AEMEFR ) 128 E2RF-EPSF- 23T dm5p3 %

_______________________________________________________________________

FE2A £ 124
1. [ ] bad [ ] pad 2. [] hen [ ] Ben
3. [ wig [ fig 4. [] fit [] bit
5. [ ] vet [] met 6. [ ] mat [] bat
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( )1.(A) It goes whoop.
(B) It goes tweet.

(C) It goes woof.
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( ) 2. (A) It goes whoop.
(B) It goes tweet.
(C) It goes woof.
( ) 3. (A) A cat can fly a kite.

(B) An ox can rollerblade.

(C) A lion can write.

()4 (A) A cat can read.
(B) An ox can dance.
(C) A lion can sing.

( ) 5. (A) A cat can jump rope.

(B) An ox can cook.

(C) A lion can read.
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can

can’t

() 1.(A)Jill can jump rope.
(B) Jill can’t jump rope.
(C) Jill can cook.
() 2.(A)Keller can rollerblade.
(B) Keller can’t rollerblade.
(C) Keller can’t read.
() 3.(A) Renee can’t cook.
(B) Renee can write.
(C) Renee can’t play Frisbee.
() 4. (A)Joy can play Frisbee.
(B) Joy can jump rope.

(C) Joy can’tread.
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1. What can you do?

2. It’s a very big animal.

Its skin(% = %7) is grey, and it has a long nose (trunk).

What is it?
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